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Part One: Choose the best answer for the underlined words and phrases.

1. Walras seems to slur over the distinction between income from work and income from
e . )

Ol pge 2 o9S SKal g Do paten e 508 sl il
2. The appeal to natural harmony was metaphysicﬁ, for itoffered no evidence of what natural
order is. y J :

AL a5 8 R g S = S g5 il

valt _':_;‘@Et_ﬁvé'ichange values are inversely related.

3. Adam Smith even suggested that

aslin el .o - -r-‘”tf'*e-c hoas sled ) e saliien) gt sl .l

4. In reality we do not buy of consumption with money, the circulating medium with

which we pay for them, |
5. The payment that they receive for their manufactures are their gross income.
oAl SLa s ssas Sl e 0allal sl 8. saas dalu.ill

‘6. The composition of the stock of means of production may be adjusted to any flow of output so

as to equalize the rate of profit accruing to the capitalists.
a5k Sl Jyoas So S ¢ s ol o sl sl
7. Goods which perish quickly, cannot be sent long distances.
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(L/8. It can increase the quantity of goods available, but only by sucking in more imports and

diverting to the home market goods that would otherwise have been exported.
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/9. GDP measures the net output or value added of an economy by measuring goods and

services purchased with money. _

. N TR oalls sl ol
“10. But this calculation is moreéiﬁmltmme new product allows an activity that had never
been possible before. ; '
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. Ll Until wages and prices haye adjusted to their new long-run equilibrium level, a fall in
aggregate demand will iEa:ﬂ:toilower output and employment.
G gy (sLalis — 5505908 Jobad placs o0 S slalis — cise 30 Julad place il
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12. Not all this extra demand can be met by firms which are already going flat out.
i 323 3 OIS Fore oS Sl o G35 03,581 52
- 13. The United States would emerge from the war in an immensely strong economic position
compared with the devastated countries of Western Europe.
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/)14. High prices not only choke off the demand for oil-related commodities; they also encourage
consumers to purchase substitute commodities.
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15. Research in progress will resolve some of these issues but new issues will arise and provide
scope for further research.
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16. An exchange rate may well need to be adjusted from time to time in the pursuit of real
economic objectives.
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Part Two: Choose the best answer:

S 17. In: “If among a nation'of hunters it usually costs twice the labour to kill a beaver which it

does to kill a deer, one beaver should naturally exchange for or be worth two deer.” does refers to

should .. exchange .. COStS .. Kill ..

18. In: “ As soon as stoglghas accumulated in the hand hands| of particular persons some oﬁ ‘them will
X

naturally employ it 1t in setting to work industrious people, whom they supply with matcnals and

subsistence.” Them and it refer to ..... and ..... respectively.

Hands - stock .o Persons - hands . _all
stock - Particular persons @ industrious people - hands ..

19. In: “The situation is then serious, for it is much more difficult to reverse the trend.”, for
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20. What is a “merger”?
a . The reestablishment of two companies where they think they cannot cooperate with each

other.
b . The reestablishment of two companies where they think thc'y *w;u do better 'by

e, T
d . The union of two compames where they thmk they cannot coomte wuh each other.

signs .o . govemmem.g .' wilt . demand .4l

'-\. <

: 2;.5 .............. gconomics offers endations based on personal value judgments, while

economics deals wnh ﬂbjeeflve or scientific explanations of the working of the

economy.
normative - Positive .o descriptive - Professional ..l

free — Closed .. monetary — Mar. o
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What would the wages' mid salanes of all these people be spent on?
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Part Three: Translate the following paragraphs into Persian:

1- The possibility of making profits from imports depended on the demand for 'gxblié goods
at home- muslin from India, or spices from Ceylon-and profits from exports depended on
prices abroad of home-produced goods-cloth from England. Slili_ming_ ‘up all the
transactions for one country over a year, we find that the greate;'_part of the value of
imports and of exports offset each other, but there was no mechanism to make them match

exactly.
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2- This argument explained the common observation that a sudden increase of any
commodity brought to market-say, tomatoes-will generally lead to a fall in its price; and it
solved the old puzzle of water and diamonds. The price of a commodity is governed by its
marginal utility, not by its usefulness. Where water is i plcntlful sumﬂy, its marginal

utility is low; the marginal utility of diamonds is kept high by theu‘ muy.

3- This doctrine, of course, is purely cireular‘,It states that, wh‘m’i businessman maximizes
his profits in a particular market situationy he meombmmg various factors of production in
fi ‘by @Eb&mﬁgthem differently.

such a way that he could not make more prof

4- The output of manufacmmd' @ﬁs cmeﬁn be increased quite quickly by putting in new
plant and equipment, or s;mgly ﬁywrhng overtime; but it takes a long time to grow more
rubber trees or simply by wm:_kﬂfng overtime; but it takes a long time to grow more rubber

trees or sink a new copper mine.

5- By the early 1940s it was clear that after the war the Americans were going to be in a very
strong economic position compared with British and the other Western Allies.
Consequently it was what they wanted that really counted, and the outcome of
international discussions on the subject-the International Monetary Fund, set up under the
terms of the 1944 Bretton Woods agreement-was much closer to American ideas than

British.




